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2M: AFXE
H: HWRES(HAESXED)
S BEEXNES(ZTEHAY SE3AH) Ct
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HDE
o498 (N &) 20,000,000 * 5AICH 100,000
oh9¥ (E=) 23,500,000 * S5AICH 117,500
175,000

o508 (M &)

35,000,000& * 5AICH




N = 0 &8 AH Y H N AN
20228 = 20 A DIEIEE I H A
2AMN: Aot ALY A
BE: GSULN 2FBZ HA
Sl BEIEAL SY(FEML SE3H) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Mot T AFE A 6,502,272 10,860,616 N 4,358,344
=2 1,920,000
Al 4,582,272
SsdH 2 s 2,058,024 1,430, 167 627,857
= 500,000
Al 1,558,024
SHIZAE 2 (FEMH SE3H) 2,058,024 1,430, 167 627,857
= 500,000
Al 1,558,024
St=ELHel & 2F 22 528,673 534,433 N5,760
201 LEt2 Y| 493,385 499, 145 N5,760
01 AFR 22l dl 59,680 59,440 240
ogaze=x4g 57,960
SRTEN 60,000& * 2 = 118 14,160
o= 60,000& » 29 3652 43,800
ORoHHIAIAE S22 110,000& * 128 1,320
O2LMA EX dUHS(SES 490) 400
02 352494l 433,705 439,705 A 6,000
O332=2 2 HA 411,165
olMII=3 32,000,000& * 12& 384,000
oMt ER2 200,000& = 12& 2,400
ocJIAANESR 200,000& = 12& 2,400
o XS XA 100,000& * 30CH 300
oXtSX HIIHA =2 25,000 = 30CH 75
o(CCTV M3 EASBE 100,000& * 12& 1,200
oXMI|otAM & H A 1,732,500& = 12& 20,790
OH ZHl 800,000& * 5& 4,000
OXt&E = X bl 240,000 = 3CH = 128 8,640
O&I HIIZ A2 1,100,000& * 13 1,100
AFHEH 2 2,200,000& * 43| 8,800
202 04 b1 3,888 3,888 0
01 2LHOHI 3,888 3,888 0
Odt=xel g4
81,000& *» 4 x 22 x 63| 3,888
204 X2 =2 A H| 11,400 11,400 0
03 SHAL A 11,400 11,400 0
Ouolg syl 50,000 » 19 = 12& 11,400
401 Al HI L 2 THHI 20,000 20,000 0
01 A& Hl 20,000 20,000 0
OAIEAEAF & FHAAE FH| 20,000
St==MIH D HE Xl 289,276 242,190 47,086




SN dot=Z A A
BE: GSULN 2FBZ HA
Sl BEIEAL SY(FEML SE3H) (S &2)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
201 fEt2E | 289,276 242,190 47,086
01 At 2t 2l bl 84,572 62,000 22,572
Oct=HMNJII & &S 2LHEESH 84,572
oot = MK I 19,0803 = 3,255& 62,106
og &= 35,660& » 630& 22,466
02 524t 204,704 180,190 24,514
Oot=RMNIl & g&= HIIXME FE= 47,104
Oct=HMNII & B&= 28 AN =9 2,200
OBt=MMI| XMl === 40,0008 * 3,255& 130,200
Ogfs Mele==28 40,000% * 630= 25,200
=Xl AlE ZHl 320,875 250,820 70,055
201 fet2E | 106,875 143,820 236,945
01 At 22l bl 39,650 39,500 150
O=XNclAld 2l 38,000
odtaHMelAd" BAXN(MEXR) &4 16,000
oHHILTH (FLSHE 21 S) 20,000
CHEW(EHANL)EIEE =52 2,000
O=Xcl Alg EHl 22= 7
150,000& * 11¥ 1,650
02 s3=9Hl 67,225 104,320 A 37,095
O=XclAld A&2&H |X 67,225
oot ¥ EaXMelAE KA 2l (13HA) 42,000
oIl H A=EEH =2 15,000
oAFYA MIHII ==HH]
25% = 125,0002I & 3,125
o€ 4H A2F FLuA 7,100
206 M =8l 24,000 24,000 0
01 M= Hl 24,000 24,000 0
O=HXcAl4d sX2e M7 24,000
oBI Y MIIZXE, HASLH M=
2,000,000& = 12& 24,000
401 AIEBI L 2 CHEI 190,000 47,000 143,000
01 A€ HI 190,000 47,000 143,000
Oot=HMcl& AEE FEHl 40,000
cldlds gisd 20,000
o4t 2 A4NEF 20,000
O SAHIILE EFAE HLASAM 150,000
ANAMEIHE ssd 29 48,000 23,000 25,000
201 2Bt2 Sl 8,000 5,000 3,000
01 AtR 22l | 8,000 5,000 3,000
OMAMEHME s 298 8,000




AN dot=SAFE A
HE: UsSYLH 2BBY KA
Eel: SHIZAE 2 (=ML SE3H) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
206 M= Hl 40,000 18,000 22,000
01 M= 4l 40,000 18,000 22,000
OXdgsetsd 2= 40,000
os=d 90l € URAE ME 20,000
ok sd Zel2d Mz7e 20,000
g2 2tel 156,200 379,724 A 223,524
201 L4l 91,720 81,424 10,296
01 At 2t 2l 23,520 24,020 A 500
Ox&IAN =25 23,520
oxd ¥ YFs HEHHSHB A
455,000 * 221 = 123 10,920
obtxEhr il d2ZA =2
1,100,000 = 13l 1,100
oMY EH WHAAN =2
2,500,000 = 13l 2,500
oRolistEESMAE HA(HMES) Ml 6,000
CcHHAZRZ AUZI 5 48 =F =2 1,000
oxd, ¥F RN wWIIM =2 2,000
02 =224l 68,200 57,404 10,796
OFI™elAE |X2e 36,000
ocdRLUAT HA & RX 2
4,500,000 * 2CH * 43 36,000
Ox=ZXS=ZZH (TMS) A2 el
1,850,000 * 12& 22,200
Ox=ZHe BE= 10,000
206 M= Hl 60,480 102,300 241,820
01 =8l 60,480 102,300 A 41,820
OE 7Yl 38,520
oFJID2X SE M 2,970& = 8,000kg 23,760
oIkt SEAM 1643 = 90,000kg 14,760
Ox=ZEXlts SF&H 42258 7¢ 7,500
OZFUHANE 2EMHE 2
330,000& * 123l 3,960
OFTUXMIAE Hurz 2 70,0008 * 15004 10,500
207 O] 4,000 6,000 A 2,000
03 Al & 11HI 4,000 6,000 A 2,000
OAIE &2l 4,000
caEa Al £ 100,000& * 208 2,000
ocaga JIXNM 2L 100,000& * 20& 2,000
CF EaMaAE HEAMY 715,000 0 715,000
= 500,000
Al 215,000




2N MEETAYL
o GSU4H 2RBY N
BAINZANE SS(FEHG SEH) CERED

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
401 Al HI YL =2 T 715,000 0 715,000
= 500,000
Al 215,000
01 A& HI 715,000 0 715,000
OLE BLMelAlE ALY
715,000,000& * 14 715,000
= 500,000
Al 215,000
X 15 =222 2,626,568 7,633,553 25,006,985
2 1,420,000
Al 1,206,568
NEZNL(SRMS SEalH) 2,626,568 7,633,553 5,006,985
= 1,420,000
Al 1,206,568
A272 dt=% FH ¥ FLEAMY 302,160 151,080 151,080
401 AIEBIZ 28I 302,160 151,080 151,080
01 A& Hl 300,000 150,000 150,000
OL72 o2 ZHl ¥ &AM 300,000
03 A& S THHI 2,160 1,080 1,080
OALAR a2 FH 2 ZHAE 20
300,000,000& * 0.72% 2,160
ot KA 3,888 234,888 A 231,000
202 Oddl 3,888 3,888 0
01 = LHA YI 3,888 3,888 0
Ofl+% 2 +ENM YL
81,000& = 38 = 2 « 83| 3,888
i=&Hl =33A 2elid 15,000 10,000 5,000
401 AIEHIZ 28I 15,000 10,000 5,000
01 A& Hl 15,000 10,000 5,000
Obi=&Hl AISZAL & SIJAX A 22 XA 15,000
s 2 HEY 22| 60,340 2,300 58,040
201 LBr2d| 60,340 2,300 58,040
02 3323l 60,340 2,300 58,040
OUHE()EZHE dMIIL3
2,920,000& = 12& 35,040
O8I MRS 150,000& * 12& 1,800
OUE(2)EZH 44l
1,000,000 * 2300 £ 23,000
ORF=EHIZE =4I 500
st=aaot=EEs 29 K& 3,700 3,400 300
201 Let249] 3,700 3,400 300
02 8323l 3,700 3,400 300




AN dot=SAFE A
Bu: 2N 12 23
SRl ARBANM(FEHE SEEA) CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ost=4dt+=S &3l 3,700
=7 o= &l 2,153,000 973,000 1,180,000
=2 1,420,000
Al 733,000
401 Al HIZ 201 8] 2,153,000 973,000 1,180,000
=2 1,420,000
Al 733,000
01 A& HI 2,101,000 873,000 1,228,000
OZL=Z+ ot=22 FH| 2,101,000
= 1,420,000
Al 681,000
02 Zeltl 52,000 100,000 A 48,000
OZdE+ o222 FH ALMB22ES 52,000
St SZA0 2 FAXNRES M4EEA 8,500 8,500 0
207 A O] 8,500 8,500 0
01 289 8,500 8,500 0
Odl=E SZRI & |UXNRES ¢E 4 8,500
AEZA(EY) HIIRIAS 22 14,980 0 14,980
201 et 14,000 0 14,000
01 At 22l 14,000 0 14,000
OBII?da &A=& 700,000&8 » 5% = 43| 14,000
301 gEd = 980 0 980
09 SALEHIX A S 980 0 980
OBItIAS ol & A4
49,000& = 5H « 43| 980
0l Bl 8l 65,000 1,511,375 A 1,446,375
801 GBI 8l 65,000 1,511,375 A 1,446,375
01 Broildidl 65,000 1,511,375 A 1,446,375
Ouldl gl 65,000
IS B (Aot TAI L) 1,817,680 1,774,896 42,784
QA (=EMH SE3IA) 1,786,432 1,745,972 40,460
QlARAEI (= EMLSE S AH) 1,786,432 1,745,972 40,460
101 @124l 1,743,592 1,709,852 33,740
01 2= 1,066,537 1,110,247 A43,710
OJles 705,844
ob= 85,489,000 * 19 85,489
S= 4,305,200& * 598 « 123 258,312
o7g 3,455,110& » 6% » 12& 248,768
=8z 1,843,400 » 2% » 128 44,242
°9= 1,755,800& * 3H * 123 63,209




EA: Mot A A
HM: HY2HAH| (MBI AIEA)
Srol: ol (FEHE S5 CERED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
o X 2IA&H| 647,099,800 * 0.9/100 5,824
o83z2s¢ 652,923,698& * 1/12 54,411
OAZ2ZAZ22E 80,608
SY=
12,1242 » 5H * 67AI2t = 62/100 » 12€ 30,218
o7g
10,952) * 5% * G67Al2t « 62/100 ~ 12€ 27,297
o8z
09,8322 * 2 * B7AI2t = 62/100 » 12€ 9,803
o9z
8,887 * 3H * B7AI2t = 62/100 » 12€ 13,290
OEsY 15,600
o il Xt 40,000& = 15 * 12& 7,200
SEPIE] 20,000 = 10 * 12€ 2,400
o= MY 60,000& ~ 58 » 12& 3,600
o J|EIDIIE 20,000 = 10 * 12€& 2,400
(OF =) PN = 12,960
o 25 0] & 130,000& » 6Y = 12& 9,360
o 20E 0l & 254 0 Bt
110,000& * 1 = 128 1,320
o 15E 014 20&E 012 80,000& ~ 1Y€ » 12& 960
o 10E 014 158018 60,0008 » 18 * 12& 720
oh5E 0l A 10 O] CF 50,000& ~ 198 « 12& 600
OREgz224 50,000& = 19¥ * 12& 11,400
O3 9,425
o532 e
4,228,300 * 4.1% = 18 = 12& 2,081
obz
3,731,200& * 4.1% » 4H = 12& 7,344
OExg2Ra4 47,880
oXddx¢ 180,000 = 19¥ * 12€ 41,040
oS 22sYE 30,000& = 19 » 12& 6,840
OFMZ A 140,000& * 19¥ = 12& 31,920
OY&ESIIHl 652,923,698 * 1/12 = 120/100 65,293
Ot 4l
652,923,698 * 1/12 = 86% = 1/30 » 20L& 31,196
02 JIEA 2 %= 245,541 171,804 73,737
OHFAFE(FH, 31588) 156,397
ocllz2 3,598,200& * 29 = 12& 86,357
o X RIAH| 86,357,000& * 0.9% 778
odIZxY 87,135,000& * 1/12 7,262
cIIExE 1,200
—-bif < Xt 40,0008 * 29 x 128 960




SA: ABIAZAIYA
. HH G (Aot AF &)
el lE2HHI (=2 SEE3H) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-JIEILE 20,000& = 1% = 128 240
ofe=sg 180,000& = 2H = 12& 4,320
o+ 50,000& = 29 = 12& 1,200
ocdI2xE Idt=a 1,632
-254@ 0] & 130,000& = 198 = 128 1,560
108014 15480/8  6,000& =1H » 128 72
o Z AU GAH| 140,000& = 2H = 12& 3,360
oA gE X 155,000& » 29  12& 3,720
ool & sl 50,000& = 2H = 123 1,200
SRS
87,135,000& * 1/12 = 120/100 8,714
o oIt At
87,135,000% = 1/12 = 86% * 1/30 » 20 4,164
SR ELE
10,803& = 2% = 67AI2t = 128 17,372
coaRsY
3,697 * 1H » BAIZH » 365 10,796
S =] 81,0504 = 1H « 40 3,242
cExRZ2RE 30,000& = 3% = 12& 1,080
OHAIZE(IAM, 853) 89,144
cJIEg= 3,842,600 * 1H » 123 46,112
SPSEY Fal]l 46,112,000& = 0.9% 416
oc¥I2d 46,528,000% * 1/12 3,878
oc¥d=¢ 180,000& = 1H » 123 2,160
ogsg 50,000& = 1H » 123 600
odZaE Jtita 1,560
-25E 0] &f 130,000& = 1H = 123 1,560
o Z UG A 140,000& » 198 = 128 1,680
o XgE x| 155,000& * 1H » 123 1,860
ool sl 50,000& = 1% = 12& 600
o EEFIHHI
46,528,000& = 1/12 = 60% * 23] 4,653
o oh 2 Al
46,528,000% * 1/12 = 86% *» 1/30 = 202 2,224
oNeRRAY
11,023 = 1% = 67A12t = 128 8,918
oortRRAY
3,690 * 1% x BAIZH » 1222 3,602
cpuRRLY 89,1602 * 1% * 118 10,521
oS4XIL4+Y 30,0008 * 1Y « 128 360
03 BRE(RIAHA)2Z2NES 431,514 427,801 3,713
OstZ0lst& 288,136
=lles 3,034,400 * 4¥ * 123 145,652




SA: ABIAZAIYA
. HH G (Aot AF &)
el lE2HHI (=2 SEE3H) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
ocExgead 90,000& * 49 » 12& 4,320
oMATHSH 70,0003 = 4H » 123 3,360
oM 60,0003 * 49¥ » 12& 2,880
o E+g 60,0003 = 48 » 123 2,880
o Z UG AH| 140,000& * 4H = 12& 6,720
< JHH 2 X4l 90,000& = 4H » 123 4,320
cuwsExH| 90,000& = 4¥ » 128 4,320
cItE=xg 4,320
—tH < Xt 40,000 * 4% = 128 1,920
-JIEILE 20,000& = 109 = 12& 2,400
o dEFIH|

3,034,400 * 60% » 4H * 23] 14,566
ocdIg 3,034,400 = 50% » 4% * 23] 12,138
ocxU2ZFSE 71,638

“AZE 2R
28,700& * 4% x 20AI2F = 128 27,552
—FY2RE

229,610& = 4% x 4 « 12& 44,086
cHXRSF I 153,070&F » 4% » 18¥ 11,022
&2 Mo L AEA(EFARE, 1158
) 52,633
cJIE2= 2,148,336& » 1H » 128 25,781
ocdI=g 2,148,336& * 45% » 19 * 23| 1,934
o H A F I 2,148,336& * 60% * 23| 2,579
ocEL+HERH 50,000& = 1H = 123 600
oM ATHSH 150,000& = 1H = 123 1,800
o+ 90,000 = 1% = 12& 1,080
o Z A GAH 140,000& = 1H = 123 1,680
o JtH 2 =4I 80,000& = 1¥ » 12& 960
o XNRad 110,000& = 1H » 123 1,320
cHXR=SFIMH==E 110,352& » 1FH » 18Y 1,987
SAAAI R

20,6913 = 1 = 20AI2t = 128 4,966
S e =]

165,528& * 198 = 4 » 123 7,946
HFANZA(SEEARE, 1058) 43,648
oJIEg=s 2,118,182& » 1H » 128 25,419
ocdI=g 2,118,182& * 50% » 198 * 23| 2,119
o H A F I 2,118,182& = 60% * 23| 2,542
ocSxgead 50,000 = 1% = 12& 600
oXMATHSH 150,000& = 1H = 123 1,800
oY+ 90,000 = 1% = 12& 1,080
o Z A G A 140,000& = 1H = 123 1,680
o JtH 2 =4I 80,000& = 1¥ » 12& 960




2AMN: Aot ALY A
HM: HY2HAH| (MBI AIEA)
Srol: ol (FEHE S5 CERED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
oA ReY 110,000& » 1¥9 = 128 1,320
cItE Y 40,0003 * 189 = 12& 480
cHXIKIFIIEEY 109,112& * 1 * 18 1,965
ox W2 E 20,4583 * 15A12F » 12& 3,683
OXlots ZESH HH (BZARR, 1352) 47,097
oJl22 2,209,989& » 1H * 12& 26,520
oML 2,209,989& * 60% *» 1H * 23] 2,652
o " A S| 2,209,989 * 60% * 23] 2,652
ocExURFLH 50,000& + 1 = 12& 600
SR e S e =] 150,000 * 1 = 12& 1,800
oE G 90,000& ~ 1 = 12& 1,080
o HHFAH| 140,0008 » 1¥9 = 128 1,680
o JtAHIE = HI 80,000& ~ 1 » 12& 960
o X4 110,000& » 1Y = 12& 1,320
cItE Y 60,000& ~ 18 « 12& 720
cHIRIFIIE 112,888 * 1H * 182 2,032
oANZAHI2ELE
21,1673 = 18 = 20A1 2+ = 128 5,081
204 &2 = Z H| 32,760 36,120 A 3,360
02 &2 8 x4 32,760 36,120 A 3,360
O&Z2 Xl 32,760
o532 250,000& * 1 = 128 3,000
o632 165,000 * 5 x 128 9,900
o733 155,000& * 69 = 12& 11,160
o 8~9=2 145,000 * 5 x 12& 8,700
304 H=2R2E=2S 10,080 0 10,080
04 222 (R2J/HY)22H1sEE=E222S 10,080 0 10,080
ORJHE 22X MAEE S
120,000 = 7 = 12& 10,080
JI2HH (=ML EL3H) 31,248 28,924 2,324
2 (+RHESESH) 31,248 28,924 2,324
201 et A | 24,200 21,876 2,324
01 AFR2 2t 2l Yl 24,200 21,876 2,324
O AEd JI=28Yl 240,000& = 128 2,880
OANE2E RA(SAMX S) 160,000 = 12& 1,920
OMBAIRI|D] 228 2
240,000 = 8CH * 23] 3,840
Osdds sz 35,000& = 12& 420
o8| degz 350,000& = 12& 4,200
O34l 8,000& * 18Y x 52 x 12& 8,640
ORJIH 22X Ll=HI 2,300
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